
Causes of world war II



Adolf Hitler

Ignored the Treaty of Versailles and continued to enlarge 
his army and weapons.

Enforced the Nuremberg Laws and also helped created 
them. 



Nazi Party

Allowed Hitler to gain large amounts of control.

Appointed Hitler the Chancellor of Germany and the 
people liked his ideas of gaining power legitimately.



Treaty of versailles
• Wilson wanted the treaty to be 

based on his 14-points 

• Clemenceau wanted harsh 
revenge 

• George agrees with but Wilson 
knew births public would 
agree with Clemenceau  

• The treaty mad Germans mad 
because it mad the prices go 
up and made it hard to pay for 
stuff.



Hitlers actions

• French and British both were 
in favor of stronger germany 
because they thought it 
would help to prevent the 
spread of communism to the 
west 

• Hitler didn't keep his word lot 
which made county's mad



Failure of appeasement
• The Munich Agreement 

Agreed that the 
Sudetenland would be 
returned to Germany 
and that no further 
territorial claims would 
be made by Germany. 

• When Hitler invaded the 
rest of Czechoslovakia 
in March 1939, he 
broke the terms if the 
agreement



Failure of the League of 
Nations

• The League of Nations was 
an international organization 
set up in 1919 to keep world 
peace.  

• The Great Depression hurt 
the ability of the League of 
Nations because countries 
did not want to risk losing 
trade and did not agree to 
requests.


